ENL#HX

BEEFER 1tﬂ“1§ﬂ§ 7 i
— 'IL\& LT @»Hﬁﬂﬁﬂﬁ @ K;Z Hﬂ']éii! “:L Hﬁllétm

EEERRX

REHM

BEMRex  TOTEME  ATHBE

LEEEX

SEENIE
2ibig

!":ﬁlﬁi& " El1E 2] 11’.@'])&% 1|:15'1211L'
FATAN
G ® Cf e ﬁmmgﬁﬁm@ Z{

s || e e i 13050

= oo o 13058 e 13060 TAN 30
B | 80% || F | 40%

C|70% |G 30% = | = *L\\ IJ-IFF.I

b o ﬁ NTIE S

90E

—avrt
Lt
WEAETE

AN

(

BERES TR @ h

#ECEAFRPE

N /KM (4],
210E) @ -

fer
;ﬁ, 11\5E&/ 120E (8\ 13\’0E )

sl | (35g)

} /W?A\ i
580D N
%ﬁ@%ﬁrfmmwu y - " wi320E
(;) LT ;

400E) |

]555)21 ‘—(1 65E 77777777

== <—13053>“<——130E§ FFJ e

@L;

==00E=——="

O5F.

{ I

\\\
\ e et 4
e

Sl

e

W S 2T (W\\\m\i\\

T
e
/vu/// \

RIBUMESER
o
SRIEAT

(140E)

(140E)

F\ umgﬁ

L Tel]




